Monday
WALT; choose to use a suitable written method to solve particular subtractions

Based on the numbers, use either:
Column subtraction
OR
Jumping on using a number line
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Tuesday
G-WALT; understand and the use the place-value of 4-digit numbers

Steps to success
Use place-value cards to create 4-digit numbers
Describe the number for your partner to guess it
Partition into some of the thousands, one more thousand then the hundreds




Wednesday
WALT; use column subtraction to subtract 4-digit numbers

Steps to success
Use column subtraction to solve the calculations
Start on the right
Decompose the columns if needed
Choose a strategy to check your answers[image: ]

Friday
WALT; use column subtraction to subtract 4-digit numbers

Steps to success
Use column subtraction to solve the calculations
Start on the right
Decompose the columns if needed
Choose a strategy to check your answers
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Answers
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8842 - 513 =011

7532 - 1381 =

3695 - 1547 =

7642 - 2335 =

6561 — 3247 =

8470 - 3157 =

6624 - 3108 =

4658 - 1274 =

Choose two calculations to check with addition.

6756 - 4373 =
9715 - 5482 =
2342 - 1268 =
7351 - 5283 =
9127 - 3079 =
2345 - 1276 =
8140 - 6065 =
7352 - 1188 =
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Answers: Year 4 Textbook 2 Pages 74-83

Page 74
1. Thourond 40 minutes

2. hour ond 45 minutes

3.1 hour ond 28 minutes

4. 1 hour ond 21 minutes

5. 1 hour ond 35 minutes

6. 1 hour ond 4é minutes

7.1 hour ond 24 minutes

8. 1 hour ond 58 minutes
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Subtracting 4-digit numbers

8842 - 513 = 8329 9. 6756 - 4373 = 2383
7532 - 1381 = 6151 10. 9715 - 5482 = 4233
3695 - 1547 = 2148 11. 2342 - 1268 = 1074
7642 - 2335 = 5307 12. 7351 - 5283 = 2068
6561 - 3247 = 3314 13. 9127 - 3079 = 6048
8470 - 3157 = 5313 14. 2345 - 1276 = 1069
6624 - 3108 = 3516 15. 8140 - 6065 = 2075
4658 - 1274 = 3384 16. 7352 - 1188 = 6164

© N O RN =

=
~

. Choose two calculations to check with addition.
Answers will vary, e.g. 8329 + 513 = 8842,
6151 + 1381 = 7532 ....
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